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(1)

(A) - 11 (B) - 2
(C) -  (86) (D) - 4

(2)

(A) (B)

(C) (D)

(3) “ ”
(A) (B)

(C) (D)

(4)

(A) 6 (B) 4

(C) 5 (D) 2

(5) 51 Kg.

(A) (B)

(C) (D)

(6)

(A) (B)

(C) (D)

(7) (Age)

(A) (B)

(C) (D)

(8)

(A) (B)

(C) (D)

(9)

(A) 25% (B) 29%

(C) 32% (D) 39%

(10)

(A)  - 3 (A) (B)  - 5 (A)

(C)  - 4 (A) (D)  - 6 (A)
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(11) ‘ ’ 
(A) (B)

(C) (D)

(12)

(A) (B)

(C) (D)

(13) (UID)

(A) 14 (B) 16

(C) 18 (D) 19

(14)

(A) (B)

(C) (D)

(15)

(A) (Stomach) (B)

(C) (D)

(16) ( ) - 2023

(A) (B)

(C) (D)

(17)

(A) (B)

(C) (D)

(18) 2023-24

(A) 79 (B) 80

(C) 81 (D) 82

(19)

(A) PARAKH (B) SWAYAM

(C) DIKSHA (D) SSSA

(20) -2020 

(A)  - 6 (B)  - 8
(C)  - 10 (D)  - 5
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(21)

(A) (B)

(C) (D)

(22)

(A) (B)

(C) (D)

(23)

(A) (B)

(C) (D)

(24)

(A) (B)

(C) (D)

(25)

(A) (B)

(C) (D)

(26)

(A) (B)

(C) (D)

(27)

(A) I.Q. ( ) (B) S.Q. ( )
(C) R.Q. ( ) (D) E.Q. ( )

(28)

(A) (B)

(C) (D)

(29)

(A) (B)

(C) (D)

(30)

(A) (B)

(C) (D)
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(31)

(A) (B)

(C) (D)

(32) (Test) 

(A) (B)

(C) (D)

(33) (Spread Sheet)

(A) (B)

(C) (D)

(34) ‘ ’ 
(A) (B)

(C) (D)

(35) “ ”
(A) (B)

(C) (D)

(36)

(A) (B)

(C) (D)

(37) (NILP)

(A) 15 (B) 15 55

(C) 6 14 (D) 21 65

(38) One Nation, One Digital Platform

(A) PM eVIDYA (B) BISAG-N

(C) DIKSHA (D) Vande Gujarat Channel

(39)

(A) (B)

(C) (D)

(40)

(A) (B)

(C) (D)



(7/24)MATHS / SCIENCE (A)

(41)

(A) (B)

(C) (D)

(42)

(A)

(B)

(C)

(D)

(43) Discovery Learning 

(A) (B)

(C) (D)

(44) 14

(A) (B)

(C) (D)

(45)

(A) (B) ADHD

(C) (D)

(46) (Bloom’s Taxonomy)

(A) (B)

(C) (D)

(47)

(A)

(B)

(C)

(D)

(48)

(A) (B)

(C) (D)

(49)  (�) 
(A)

(B)

(C)

(D)
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(50)

(A)

(B)

(C)

(D) QR Code 

(51) OER

(A) BISAG - N (B) GROWER

(C) NROER (D) e-pathshala

(52)

(A) (B)

(C) (D)

(53)

(A) (B)

(C) (D)

(54)

(A) (B)

(C) (D)

(55)

(A) (B)

(C) (D)

(56) R, U, X, A, D, ?

(A) F (B) G (C) H (D) I

(57) 1, 3, 3, 6, 7, 9, 9, 12, 21, ? 

(A) 10 (B) 11 (C) 12 (D) 13

(58) 10, 100, 200, 310, ?

(A) 400 (B) 410 (C) 420 (D) 430

(59) TEACHER VGCEJGT CHILDREN

(A) EJKNEGTP (B) EGKNFITP

(C) EJKNFGTO (D) EJKNFTGP

(60) TWENTY 863985 ELEVEN 323039

TWELVE

(A) 863203 (B) 863584

(C) 863903 (D) 863063
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(61) ‘123’ ‘bright little boy’ ‘145’ ‘tall big boy’ ‘637’

‘beautiful litte flower’ ‘bright’

(A) 1 (B) 2

(C) 3 (D) 4

(62) + ×, × –, � + – � 175 – 25 � 5 + 20 x 3 + 10

(A) 77 (B) 160

(C) 240 (D) 2370

(63)

(A) 860 (B) 1140

(C) 2880 (D) 3240

(64)

(A) 15 (B) 16

(C) 17 (D) 18

(65) 3:40

(A) 140 (B) 150

(C) 130 (D) 120

(66)

(A) (B)

(C) (D)

(67)

(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE

(A) 3, 2, 5, 4, 1 (B) 3, 4, 5, 2, 1

(C) 4, 5, 1, 3, 2 (D) 3, 1, 2, 4, 5

(68)

(A) 50 (B) 51

(C) 52 (D) 53

20160

? 4

4

480 8

96 24
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(69) 50 30

10

(A) 20 (B) 50

(C) 100 (D) 60

(70)

           A                          B                              C                         D

(A) A (B) B (C) C (D) D

(71) .................. yÂøLkLkku Mk{kLkkÚkeo Au.
(A) yLk÷ (B) yrLk÷ (C) yLktøk (D) íkÃkMk

(72) Lke[uLkk{ktÚke ................. f{oÄkhuÞ Mk{kMkLkwt WËknhý Au.
(A) íkfMkkÄw (B) fÕÃkð]ûk (C) Ãkt[k{]ík (D) Ãkh{uïh

(73) ík{khkÚke ðze÷ku Mkk{u Ÿ[k yðksu Lk çkku÷kÞ. - ðkõÞLkku «fkh yku¤¾ku.
(A) fíkorh (B) f{orý (C) ¼kðu (D) «uhf

(74) MkV¤íkk ®sËøkeLke nMíkhu¾k{kt LkÚke nkuíke, [ýkÞu÷ E{khík yuLkk Lkfþk{kt LkÚke nkuíke. yk fkÔÞLkku «fkh sýkðku.
(A) Ëwnk (B) {wõíkf (C) nkEfw (D) MkkìLkux

(75) ¾kuxe òuzýe fE Au ?
(A) MkwáZ (B) Ëefhe (C) yfM{kíkT (D) frLkü

(76) ‘Lkehð’ þçËLkku rðhwØkÚkeo þçË þwt ÚkkÞ ?
(A) Mkq{Mkk{ (B) ½ð÷ (C) Ãkezk (D) fku÷kn÷

(77) Mk{kLkkÚkeo þçËkuLke ¾kuxe òuz nkuÞ íku rðfÕÃk fÞku Au ?
(A) ¾ku¼ý - økwVk (B) yLkhðku - rnt{íkðkLk (C) yzðrzÞwt - ÷ÚkrzÞwt (D) ykÿoíkk - {]Ëwíkk

(78) ‘½kuzkLkk MkðkhLku çkuMkðk {kxu ½kuzkLke ÃkeX Ãkh hk¾ðkLkwt Y fu QLkLkwt ykMkLk’ - þçËMk{qn {kxuLkku yuf þçË fÞku Au?
(A) Ë¤e (B) xufrýÞwt (C) ÃkerXfk (D) {kt[zku

(79) rðhk{r[ökuLkku Wr[ík «Þkuøk Lk ÚkÞku nkuÞ íkuðwt ðkõÞ fÞwt Au ?
(A) nkþ ! nðu rLkhktík ÚkE !
(B) «§Ãkºk òuE rðãkÚkeoyku {qtÍkÞk, yu{Lku fktE MkqÍ Ãkze Lknª, W¥khÃkºkku {qfe ËELku [÷íke Ãkfze.
(C) {U òÛÞwt : {khkt ÷¾kýku yuLku øk{íkkt LkÚke.
(D) .....íkku {khku Ëw~{Lk Au.
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(80) þçË yLku íkuLkk yLkufkÚkeo þçËkuLke ¾kuxe òuz nkuÞ íkuðku rðfÕÃk fÞku Au ?
(A) økwý - ÃkýA, Ëkuhzwt (B) fqx -  XøkkE, rþ¾h
(C) fktík - {Lk, ytík:fhý (D) fh - rfhý, MkqtZ

(81) ykÃku÷ ðkõÞku{kt hu¾ktrfík fhu÷ þçËLkku Wr[ík «Þkuøk ÚkÞku nkuÞ íkuðwt ðkõÞ fÞwt Au ?
(A) {U yk Ãkºk fu Xhkð ðktåÞk LkÚke. (B) fk{ ðu¤kMkh ÚkkÞ íku s yøkíÞLkwt Au.
(C) Mkktsu A ðkøku ònuh økútÚkk÷Þ çktÄ ÚkkÞ Au. (D) Ëhufu ykðf{ktÚke ÞÚkkþÂõík «{kýu ËkLk fhðwt òuEyu.

(82) ‘ËuÔÞiùÞo’ þçËLkku MktrÄrðøkún þwt ÚkkÞ ?
(A) Ëuð + yiùÞo (B) Ëuðu + yuùÞo
(C) ËuÔÞ + yiùÞo (D) Ëuðe + yiùÞo

(83) ykÃku÷kt ðkõÞku{kt ‘f{orý ðkõÞ’ fÞwt Au ?
(A) yu Mk{Þ{kt ÷kufku swøkkh h{íkk. (B) yuýu Ãk[kMk {kýMkkuLku s{kzâk.
(C) Mkhfkh íkhVÚke yk {rnLku yLkks yÃkkÞwt Au. (D) yþkuf ftE çkkuÕÞku Lk nkuík.

(84) ‘Aºke Ãkh Lkk{-MkhLkk{wt ÷¾ðkLkku WÃkkÞ ¾hu¾h fkhøkík Lkeðzâku.’ - ðkõÞ{kt hu¾ktrfík fhu÷ þçË ‘¾hu¾h’
r¢Þkrðþu»kýLkku fÞku «fkh Au ?
(A) yr¼øk{ðk[e r¢Þkrðþu»ký (B) Mk{Þðk[f r¢Þkrðþu»ký
(C) heríkðk[f r¢Þkrðþu»ký (D) MÚkkLkðk[f r¢Þkrðþu»ký

(85) ‘{khku ntMk÷ku LkkLkku Lku Ëuð¤ sqLkwt hu ÚkÞwt.’ - y÷tfkh yku¤¾kðku.
(A) ÔÞÂõíkhuf y÷tfkh (B) yríkþÞkuÂõík y÷tfkh
(C) YÃkf y÷tfkh (D) WÃk{k y÷tfkh

(86) Mahesh was too smart. (Remove ‘too’ without changing the meaning.)

(A) Mahesh was not smart at all.

(B) Mahesh was smart more than required.

(C) Mahesh was foolish.

(D) I was doubtful whether Mahesh was smart or not.

(87) .................... INS Arihant is .................... Indian Naval ship. (Fill in the blanks)

(A) The & an (B) An & an

(C) A & an (D) The & the

(88) Most students have brought their homework. ..................... of them have not completed it yet.

(A) None (B) Few

(C) Each (D) A little

(89) {U {khk ðk¤ fÃkkÔÞk. - yk ðkõÞLkwt [ku¬Mk ytøkúuS ¼k»kktíkh þwt Úkþu ?
(A) I cut my hair. (B) I clipped my hair.

(C) I got my hair cut. (D) I had a nice hair cut.
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(90) Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary (C) corporeal (D) tangible

(91) Give the verb form of ‘little’.

(A) alittle (B)unlittle (C) belittle (D)bilittle

(92) Change the voice : “What caused COVID-19 ?”

(A) What was COVID-19 caused by ? (B) What was caused by COVID-19 ?

(C) By what is COVID-19 caused ? (D) By what COVID-19 was caused ?

(93) Select the word or phrase which is closest to the opposite in meaning of the underlined word : “Rahul

will never accept your request.”

(A) turn over (B) turn down (C) turn up (D) reject

(94) Add a suitable question tag : Radha, one of my neighbours slipped off a staircase. ............. ?

(A) did she (B) does she (C) doesn’t she (D) didn’t she

(95) Fill in the blanks with appropriate set of prepositions : Nidhi travelled ................ her mother all ................

the world when she was 17 years old.

(A) by, above (B) for, around (C) with, around (D) with, over

(96) Turn this sentence into English : “nsw Ãký nwt íkuLku íÞkt yuf÷e Q¼u÷e òuE þfíkku níkku.”
(A) I could still saw her standing there alone. (B) I could still see her stood there alone.

(C) I could still see her standing there alone. (D) I can still see her standing there alone.

(97) Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation

..................... May 2023. They ..................... to Manali for a week.

(A) for, had gone (B) since, had gone (C) for, have gone (D) since, have gone

(98) Mantra got the first prize last week. Find out the correct option to get the underlined answer.

(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

(99) Ravi ....................... in this company for five years. Find out correct form of verb from the options.

(A) works (B) is working

(C) has been working (D) have worked

(100) Find out the correct spelling from the options.

(A) Spactacular (B) Spectacular

(C) Spactaculor (D) Specteculor
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(101) »ÜU HæÏ¢ ±ëœ¢è² à¢æÜéU ÜU¢ ±RU ÐëDè² ÿ¢ï~¢ÈUH ¿¢¢¼ ÜUèçÁ¢», çÁ¢S¢ÜUè ç¼²üÜU ª¡Ó¢¢§ü 10 cm ãñ ¥¢ñÚ ¥¢{¢Ú ÜUè ç~¢Á²¢ 7 cm

ãñ J
(A) 154 cm

2
(B) 70 cm

2

(C) 220 cm
2

(D) 110 cm
2

(102)  ÜU¢ï x  S¢ï |¢¢x¢ ÎïÝï ÐÚ à¢ï̄ ÈUH ................ Ðí¢Œ¼ ã¢ïx¢¢ J
(A) 3 (B) – 1 (C) 0 (D) 1

(103) ‘Ÿ¢è²æ~¢’ }¢ḯ »ÜU ÎéS¢Úï ÜïU S¢¢‰¢ Á¢éÇGï .................. S¢}¢çmÏ¢¢ãé ç~¢|¢éÁ¢ ¥æ¼<Ýçã¼ ãñ J
(A) 43 (B) 9 (C) 27 (D) 18

(104) Úï¶¢»¡ PQ ¥¢ñÚ RS ÐÚSÐÚ ôÏ¢Îé O ÐÚ Ðíç¼ÓÀïÎ ÜUÚ¼è ãñ, ²çÎ �POR : �ROQ = 5 : 7  ãñ ¼¢ï �QOS =

............. ã¢ïx¢¢ J
(A) 105 (B) 75 (C) 60 (D) 84

(105) »ÜU Ó¢¼é|¢éüÁ¢ ÜïU ÜU¢ï‡¢ 3 : 5 : 9 : 13 ÜïU ¥ÝéÐ¢¼ }¢ḯ ãñ J §S¢ Ó¢¼é|¢éüÁ¢ ÜïU S¢Ï¢S¢ï À¢ïÅï ÜU¢ï‡¢ ÜU¢ }¢¢Ð .............. ãñ J
(A) 156 (B) 108 (C) 60 (D) 36

(106) »ÜU S¢}¢Ï¢¢ãé ç~¢|¢éÁ¢ ÜUè »ÜU |¢éÁ¢¢ ÜU¢ }¢¢Ð 10 cm ãñ ¼¢ï §S¢ ç~¢|¢éÁ¢ ÜU¢ ¥{üÐçÚ}¢¢Ð ............. ãñ J
(A) 5 (B) 15 (C) 30 (D) 10

(107) Ð¢S¢¢ ÈïU´ÜUÝï ÐÚ S¢}¢ S¢æw²¢ Ðí¢Œ¼ ã¢ï ©S¢ÜUè Ðí¢ç²ÜU¼¢ .................. ãñ J

(A)
1

3
(B)

1

2

(C)   0 (D)  1

(108) ²çÎ ôÏ¢Îé (3, 4) S¢}¢èÜUÚ‡¢ 3y = ax + 7 ÜïU ¥¢Hï¶ ÐÚ çS‰¢¼ ãñ, ¼¢ï a = ..................

(A) (B)
3

5
(C)

5

3
(D) 

(109) ôÏ¢Îé (–2, 3) çÜUS¢ Ó¢¼é‰¢¢Zà¢ ÜU¢ çÏ¢æÎé ãñ ?
(A) Ðí‰¢}¢ (B) çmç¼² (C) ¼ëç¼² (D) Ó¢¼é‰¢ü

(110) �ABC ¥¢ñÚ �DBC S¢}¢¢Ý ¥¢{¢Ú BC ÐÚ çS‰¢¼ Î¢ï S¢}¢çmÏ¢¢ãé ç~¢|¢éÁ¢ ãñ ¼¢ï m�ABD = ..................

(A)m�BAD (B)m�BDC (C) m�ACB (D)m�ACD

A

D

B C
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A

CB

3 cm

1 cm
1.5 cm

D
E

(111) ²çÎ »ÜU ±ë¼ ÜU¢ ÐçÚ}¢¢Ð ¥¢ñÚ ÿ¢ï~¢ÈUH S¢æw²¢y}¢ÜU MÐ S¢ï Ï¢Ú¢Ï¢Ú ãñ, ¼¢ï ©S¢ ±ë¼ ÜUè ç~¢Á²¢ ............... ãñ J
(A) 2 }¢¢~¢ÜU (B)� }¢¢~¢ÜU (C) 4 }¢¢~¢ÜU (D) 7 }¢¢~¢ÜU

(112) Î¢ï S¢æÜïU‹Îíè² ±ëœ¢¢ḯ ÜUè ç~¢Á²¢»¡ 5 cm ¼‰¢¢ 3 cm ãñ J Ï¢ÇGï ±ë¼ ÜUè ©S¢ Á¢è±¢ ÜUè H}Ï¢¢§ü ¿¢¢¼ ÜUèçÁ¢» Á¢¢ï À¢ïÅï ±ë¼ ÜU¢ï SÐà¢ü
ÜUÚ¼è ãñ J
(A) 8 cm (B) 4 cm (C) 2 cm (D) 16 cm

(113) ²çÎ sin4A

sin5A
ã¢ï ¼¢ï A = .....................

(A) 9 (B) 3 (C) 6 (D) 10

(114) S¢}¢èÜUÚ‡¢ ²éx}¢ a
1
x + b

1 
y + c

1
 = 0 ¥¢ñÚ a

2
x + b

2 
y + c

2
 = 0 ÜU¢ ¥çm¼è² ãH ç}¢Hï, ¼¢ï ÝèÓ¢ï çÎ²ï S¢æÏ¢æ{¢ï }¢ḯ S¢ï

ÜU¢ñÝ S¢¢ S¢æÏ¢æ{ S¢y² ãñ ?
(A) a

1
 b

2
� a

2
 b

1
(B) c

1
 a

2
 = a

1
 c

2

(C) b
1
 c

2
� c

1
 b

2
(D) a

1
, b

2 
= b

1
 a

2

(115) ²çÎ � ¥¢ñÚ � Ï¢ãéÐÎè P(x) = x
2
 – 3x + 2 K ÜïU à¢ê‹²ÜU ãñ ¼‰¢¢ � + � = � . � ãñ ¼¢ï K = ................

(A) 1 (B) 3 (C) – 3 (D)
3

2

(116) ��ABC � ��PQR Uãñ ¼‰¢¢
QR

, ¼¢ï PRQ

BCA
= ..................

(A) 9 (B) 3

(C)
1

3
(D)

1

9

(117) ¥¢ÜëUç¼ }¢ḯ DE 		 BC ãñ ¼¢ï EC = .................

(A) 1 cm (B) 2 cm (C) 3.5 cm (D) 4 cm

(118) �ABC }¢ḯ 
B = 6 3 cm, AC = 12 cm ¥¢ñÚ BC = 6 cm ãñ, ¼¢ï m�B = ..................

(A) 120
0

(B) 60
0

(C) 90
0

(D) 45
0

(119) çmÍ¢¢¼ S¢}¢èÜUÚ‡¢ 3x2 
– 4 3 x+ 4 = 0 ÜU¢ ç±ç±v¼ÜUÚ ....................... ãñ J

(A) 48 (B) 0 (C) 36 (D) 12 3
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(120) ²çÎ P (A) : P ( A ) = 2 : 3 ã¢ï ¼¢ï P ( A ) = ........................

(A)
5

3
(B)

5

2
(C)

2

5
(D)

3

5

(121) »ÜU ÚïHx¢¢ÇGè ç±Ú¢}¢¢±S‰¢¢ S¢ï Ó¢HÝ¢ Ðí¢Úæ|¢ ÜUÚ¼è ãñ ¥¢ñÚ 5 ç}¢ÝÅ }¢ḯ 72 km/h ÜU¢ ±ïx¢ Ðí¢Œ¼ ÜUÚ Hï¼è ãñ J }¢¢Ý Hï çÜU
y±Ú‡¢ »ÜU S¢}¢¢Ý ãñ ¼¢ï y±Ú‡¢ ÜU¢ ÐÚèÜUHÝ çÜUÁ¢è» J

(A)
1

ms
15

(B)
1

ms
15

(C)
1

km/h
15

(D)
1

cm/s
15

(122) Ó¢‹Îí}¢¢ ÐÚ ¼¢Ð ÜU¢ ÐçÚS¢Ú v²¢ ãñ ?
(A) 0

0 
c S¢ï 100

0 
c (B) – 19

0 
c S¢ï 100

0 
c

(C) – 190
0 

c S¢ï 110
0 
c (D) §Ý}¢ḯ S¢ï ÜU¢ï§ü Ýãè´

(123) ÜU¢ñÝ-S¢è }¢ÀHè ¶Ú-Ð¼±¢Ú ¶¢¼è ãñ ?
(A) ÜUÅH¢ (B) Ú¢ïa (C) H¢ï}¢H H¢Ðü (D) x¢í¢S¢ H¢Ðü

(124) Á¢¢ïÇGï ç}¢H¢§» J

                   A        B

(a) S¢¢±üç~¢ÜU x¢éMy±è² çÝ²¼¢æÜU (1) 9.8m/s
2

(b) Ðë‰±è ÜU¢ ÎíÃ² }¢¢Ý (2) 6.4 x 10
6 
m

(c) Ðë‰±è ÜUè ç~¢Á²¢ (3) 6 x 10
24 

kg

(d) Ðë‰±è ÜïU x¢éLy±è² y±Ú‡¢ ÜU¢ }¢¢Ý (4) 6.7 x 10
–11 

Nm
2 
/ kg

2

(A) a - 4, b - 3, c - 2, d - 1 (B) a - 3, b - 2, c - 1, d - 4

(C) a - 2, b - 1, c - 4, d - 3 (D) a - 1, b - 2, c - 3, d - 4

(125) çÝ}Ý }¢ï´ S¢ï ÜU¢ñÝ S¢¢ §HïvÅî¢ïÝ ÜU¢ ç±¼Ú‡¢ S¢¢ïçÇ²}¢ ÜU¢ ãñ J

(A) 2, 8, 3 (B) 2, 8 (C) 2, 8, 2 (D) 2, 8, 1

(126) S¢ãè Á¢¢ïÇGï ç}¢H¢§» J

  Ðí¢ÜëUç¼ÜU S~¢¢ï¼                                           ¥}H

a. çS¢ÚÜU¢ 1. Å¢ÅüçÚÜU
b. S¢æ¼Ú¢ 2. »ïS¢èçÅÜU
c. §}¢Hè 3. }¢ï‰¢ñÝ¢ï§H

d. Ó¢è´Åè ÜU¢ ÇæÜU 4. çS¢ÅîèÜU
(A) a - 1, b - 2, c - 4, d - 3 (B) a - 2, b - 4, c - 1, d - 3

(C) a - 4, b - 4, c - 2, d - 3 (D) a - 3, b - 2, c - 1, d - 4
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(127) çÝ}ÝçHç¶¼ }¢ḯ ÜU¢ñÝ S¢Ï¢S¢ï (Á²¢Î¢) çRU²¢à¢èH {¢¼é ãñ ?
(A) Mg (B) Ca

(C) Na (D) K

(128) H¢H ¼Œ¼ ¥¢²ÚÝ ÐÚ Á¢H±¢cÐ Ðí±¢çã¼ ÜUÚÝï ÐÚ ÜU¢ñÝ S¢¢ ²¢ñçx¢ÜU Ðí¢Œ¼ ã¢ï¼¢ ãñ ?
(A) FeO (B) Fe

2
O

3

(C) Fe
3
O

4
(D) FeS

(129) ç±ÔÝ¢ï§ü S¢}¢¢Á¢ ÜïU H¢ïx¢ çÜUS¢ ±ëÿ¢ ÜïU S¢æÚÿ¢‡¢ ÜïU çH» ÐíçS¢h ãñ ?
(A) ÐèÐH (B) ¶ïÁ¢ÇGè (C) Ýè}¢ (D) Ï¢Úx¢Î

(130) Ý¢|¢èÜUè² ªÁ¢¢ü Ðí¢Œ¼ ÜUÚÝï ãï¼é v²¢ ¥¢±à²ÜU ãñ ?
(A) çS¢çHÜUÝ (B) RU¢ïç}¢²}¢
(C) ²êÚïçÝ²}¢ (D) »ïË²éç}¢çÝ²}¢

(131) Ó¢}¢x¢¢ÎÇG »±æ Ðÿ¢è ÜïU Ðæ¶ çÜUS¢ ¼Úã ÜïU ¥æx¢ ãñ ?
(A) S¢}¢Á¢¢¼ ¥æx¢ (B) ¥±à¢ï̄ è ¥æx¢
(C) S¢}¢MÐ ¥æx¢ (D) ÜU¢ï§ü Ýãè´

(132) x¢¢ïHè² ÎÐü‡¢ ÜUè ±RU¼¢ ç~¢Á²¢ R ¼‰¢¢ ÈU¢ïÜUS¢ ÎéÚè F ÜïU Ï¢èÓ¢ v²¢ S¢æÏ¢æ{ ãñ ?
(A) R = 2f (B) 2

(C) R = f/2 (D) R = f

(133) ¥Hñ´çx¢ÜU Á¢ÝÝ }¢éÜéUHÝ m¢Ú¢ çÜUS¢}¢ḯ ã¢ï¼¢ ãñ ?
(A) ¥}¢èÏ¢¢ (B) ²èSÅ
(C) ŒHïÁ}¢¢ïçÇ²}¢ (D) HïS}¢¢çÝ²¢

(134) }¢¢Ý± }¢çS¼cÜU ÜïU çÜUS¢ |¢¢x¢ ÜU¢ï Ï¢ÇG¢ }¢çS¼cÜU ÜUã¢ Á¢¢¼¢ ãñ ?
(A) }¢Š² }¢çS¼cÜU (B) Ðp }¢çS¼cÜU
(C) ¥x¢í }¢çS¼cÜU (D) ©Ð²év¼ S¢|¢è

(135) x¢ãÚï S¢}¢éÎí }¢ḯ Á¢H ÜU¢ Úæx¢ ÝèH¢ çÎ¶¢§ü ÎïÝï ÜU¢ ÜU¢Ú‡¢ v²¢ ãñ ?
(A) Á¢H }¢ḯ à¢ñ±¢H ÜUè ©ÐçS‰¢ç¼ (B) Á¢H }¢ḯ ÐíÜU¢à¢ ÜU¢ ÐÚ¢±¼üÝ
(C) ÐíÜU¢à¢ ÜU¢ ÐíÜUè‡¢üÝ (D) S¢}¢éÎí m¢Ú¢ ÐíÜU¢à¢ÜU¢ ¥±à¢¢ï¯‡¢

(136) çÜUS¢ ¥æ¼:S~¢¢± ÜU¢ Hÿ² ¥æx¢ NÎ² ãñ ?
(A) »ÇîèÝ¢çHÝ (B) »SÅî¢ïÁ¢Ý
(C) ‰¢¢§Ú¢ïçvS¢Ý (D) ã¢§Ð¢ï‰¢ïHï}¢S¢
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(137) ¥¢ñã}¢ ÜïU çÝ²}¢¢ÝéS¢¢Ú v²¢ ã¢ïx¢¢ ?
(A) ç±lé¼ Ðí±¢ã ÜïU Ï¢ÉG¢Ýï S¢ï Ðíç¼Ú¢ï{ Ï¢ÉG¼¢ ãñ
(B) ±¢õËÅïÁ¢ ÜïU Ï¢ÉG¢Ýï S¢ï Ðíç¼Ú¢ï{ Ï¢ÉG¼¢ ãñ
(C) ±¢õËÅïÁ¢ ÜïU Ï¢É¢Ýï S¢ï ç±lé¼Ðí±¢ã Ï¢ÉG¼¢ ãñ
(D) ±¢õËÅïÁ¢ Ï¢ÉG¢Ýï S¢ï ¥±Ú¢ï{ ¥¢ñÚ ç±lé¼ Ðí±¢ã Î¢ïÝ¢ḯ Ï¢ÉG¼ï ãñ

(138) Î¢ï ¼æç~¢ÜU¢ ÜU¢ñçà¢ÜU¢ ÜïU }¢Š² ¶¢Hè S‰¢¢Ý ÜU¢ï v²¢ ÜUã¼ï ãñ́ ?
(A) Îíéç}¢ÜU¢ (B) çS¢ÝïŒS¢
(C) »vS¢¢ïÝ (D) ¥¢±ïx¢

(139) S¢¢ïÝï ¥¢ñÚ ŒHïçÅÝ}¢ ÜU¢ï x¢H¢Ýï ±¢Hï ¥}H ÜU¢ Ý¢}¢ v²¢ ãñ ?
(A) »ÜU±¢ ÚïçÁ¢²¢ (B) S¢¢æÎí Ý¢§çÅîÜU ¥}H
(C) S¢¢æÎí ã¢§Çî¢ïvH¢ïçÚÜU ¥}H (D) §S¢}¢ḯ S¢ï ÜU¢ï§ü Ýãè´

(140) ±¢ãÝ¢ḯ }¢ḯ ÐèÀï ÜU¢ Îëà² Îï¶Ýï ÜïU çH» çÜUS¢ ÎÐü‡¢ ÜU¢ ©Ð²¢ïx¢ çÜU²¢ Á¢¢¼¢ ãñ ?
(A) ©œ¢H ÎÐü‡¢ (B) ¥±¼H ÎÐü‡¢
(C) S¢}¢¼H ÎÐü‡¢ (D) ©ÐÚ¢ïQU }¢ḯ S¢ï ÜU¢ï§ü Ýãè´

(141) ¥¢H¢ïÜU ÜUè ÜU¢Ú ÜU¢ 4 ¥æÜU¢ï ÜU¢ ÝæÏ¢Ú »ïS¢¢ ãñ çÜU çÁ¢S¢ï 2, 3, 4, 5, 6, 7, 8, 9, 10 S¢ï |¢¢x¢ ÎïÝï ÐÚ à¢ï̄  RU}¢à¢: 1, 2,
3, 4, 5, 6, 7, 8, 9 Ï¢Ó¢¼¢ ãñ ÐÚ‹¼é ±ã ÝæÏ¢Ú 11 S¢ï Ðê‡¢ü ç±|¢¢çÁ¢¼ ãñ, ¼¢ï ÜU¢Ú ÜU¢ ÝæÏ¢Ú §Ý}¢ḯ S¢ï ÜU¢ñÝ S¢¢ ã¢ïx¢¢ ?
(A) 2520 (B) 2091

(C) 2596 (D) 2519

(142) ¼èÝ Ó¢¢ñÚ¢ã¢ḯ ÐÚ S¢êÓ¢ÜU Ï¢ç¼²¢æ RU}¢à¢: 1/2 ç}¢çÝÅ, 40 S¢ïÜU‡Ç, 1 ç}¢çÝÅ ÜïU Ï¢¢Î Ï¢ÎH¼è´ ãñ J ²çÎ ±ï »ÜU S¢¢‰¢ 9:20:00

Ï¢Á¢ï Ï¢ÎHè x¢§ü ã¢ḯ ¼¢ï çÈUÚ S¢ï ±ï »ÜU S¢¢‰¢ çÜU¼Ýï Ï¢Á¢ï Ï¢ÎHï´x¢è ?

(A) 9:22:00 (B) 9:20:20 (C) 9:22:22 (D) 9:20:40

(143) r ç~¢Á²¢ ±¢Hï x¢¢ïHï ÜïU Ó¢¢Ú S¢}¢¢Ý |¢¢x¢ ÜUÚÝï ÐÚ Ðí¢Œ¼ Ó¢¢ñ‰¢ï |¢¢x¢ ÜU¢ ÜéUH ÐëDÈUH çÜU¼Ý¢ ã¢ïx¢¢ ?
(A) 4�r

2
(B) 3�r

2
(C)�r

2
(D) 2�r

2

(144) 100 ¥æÜU¢ï´ ÜïU ÐíÔÝ Ð~¢ }¢ḯ ¥¢ÐÜïU ÜïU 90 S¢ï ¥ç{ÜU ¥¢ñÚ 96 S¢ï ÜU}¢ ¥æÜU Ðí¢Œ¼ ã¢ïÝï ÜUè S¢æ|¢¢±Ý¢ çÜU¼Ýè ã¢ïx¢è ?

(A)
5

101
(B)

5

100
(C)

6

101
(D)

6

100

(145) 7.5 ¥æÜU¢ḯ ÜUè S¢æw²¢ A 6 A 4 1 ²ã 9 m¢Ú¢ çÝà¢ï̄  ç±|¢¢Á² ã¢ï ¼¢ï A3
 – 7A

2 ÜUè ÜUè}¢¼ çÜU¼Ýè ã¢ïx¢è ?
(A) 0 (B) 64 (C) 126 (D) 162

(146) ¥{ü±ëœ¢ ÜUè ÐçÚç{ 72 S¢ï}¢è ã¢ï ¼¢ï ©S¢ÜU¢ Ã²¢S¢ çÜU¼Ýï S¢ï}¢è ã¢ïx¢¢ ?
(A) 14 (B) 32 (C) 7 (D) 28
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(147) çÐ¼¢ ÜUè ±¼ü}¢¢Ý ©}¢í X ±¯ü ¥¢ñÚ ©ÝÜïU Î¢ï Ðé~¢¢ḯ ÜUè ±¼ü}¢¢Ý ©}¢í ÜU¢ ²¢ïx¢ Y ±¯ü ãñ ¼¢ï ©ÝÜUè 5 ±¯ü Ï¢¢Î ÜUè ©}¢í ÜU¢ ²¢ïx¢
çÜU¼Ý¢ ã¢ïx¢¢ ?
(A) X+2Y+15 (B) X+Y+15

(C) X+Y+5 (D) 2X+Y+15

(148) »ÜU çÓ¢çÇG²¢Í¢Ú }¢ï´ ÜéUÀ ¶Úx¢¢ïà¢ ¼‰¢¢ ÜéUÀ ÜUÏ¢ê¼Ú ãñ́ J ²çÎ §ÝÜïU çà¢Ú¢ḯ ÜUè S¢æw²¢ 200 ¼‰¢¢ §ÝÜïU ÐñÚ¢ï´ ÜUè S¢æw²¢ 580

ãñ J ¼¢ï çÓ¢çÇG²¢Í¢Ú }¢ḯ çÜU¼Ýï ÜUÏ¢ê¼Ú ã¢ḯx¢ï ?
(A) 101 (B) 110 (C) 380 (D) 29

(149) 15 Ðï´çS¢Hḯ ¥¢ñÚ 25 à¢¢ÐüÝÚ ÜUè ÜéUH H¢x¢¼ 170 MÐ²ï ãñ J ¼¢ï 57 ÐḯçS¢Hï´ ¥¢ñÚ 95 à¢¢ÐüÝÚ ÜUè H¢x¢¼ v²¢ ã¢ïx¢è ?
(A) 646 (B) 786 (C) 664 (D) 466

(150) �ABC }¢ḯ �A ÜU¢ çm|¢¢Á¢ÜU , BC ÜU¢ï D çÏ¢æÎé ÐÚ Ðíç¼ÓÀïçÎ¼ ÜUÚ¼¢ ãñ ¼¢ï BD = .............

(A)
BC AB

AB AC
(B)

BC AB

AB AC

(C)
BC AB

AC AB
(D)

AC AB

CB AB

(151) ¥¢ÜëUç¼ }¢ḯ AB = 12 ¥¢ñÚ DC = 18 ¼‰¢¢ �CAM = 30
0 ã¢ï ¼¢ï AC = .............

(A) 8 (B) 10 (C) 18 (D) 12

(152) ²çÎ x = sec�  + tan� ã¢ï ¼¢ï ÜUè ÜUè}¢¼ çÜU¼Ýè ã¢ïx¢è ?

(A) 1 (B) 2 (C) 2 sec� (D) 2 tan�

(153) ²çÎ a+b+c = 0 ¼¢ï 1

2

a b c

bc ac ba
 = .......................

(A)  0 (B) –1 (C)
1

2
(D)

3

2

B

A

D

M18

C

30
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(154) ²çÎ P = 101 ã¢ï ¼¢ï 3 p p p ÜU¢ }¢¢Ý çÜU¼Ý¢ ã¢ïx¢¢ ?

(A) 100 (B) 110 (C) 101 (D) 111

(155) »ÜU S¢}¢Ï¢¢ãé ç~¢|¢éÁ¢ çÁ¢S¢ÜUè |¢éÁ¢¢ 6 cm ãñ J ©S¢}¢ï çS‰¢¼ ¥æ¼:±ë¼ ÜU¢ ÿ¢ï~¢ÈUf çÜU¼Ý¢ ã¢ïx¢¢ ?

(A) 2� (B) 3� (C) 3 (D) 4�

(156) STATISTICS à¢ÏÎ ÜïU ¥ÿ¢Ú¢ḯ }¢ḯ S¢ï »ÜU ¥ÿ¢Ú ²¢ÎíÀ²¢ ÐS¢æÎ çÜU²¢ Á¢¢¼¢ ãñ ¼¢ï ±ã S±Ú ã¢ï ÜUè S¢æ|¢¢±Ý¢ çÜU¼Ýè
ã¢ïx¢è ?
(A) 0.2 (B) 0.3 (C) 0.4 (D) 2/5

(157) 100 LÐ²ï ÜïU Ã²¢Ð¢Ú }¢ḯ 4% ÜU¢ H¢|¢ ã¢ï¼¢ ãñ ¼¢ï 400 MÐ²ï ÜïU Ã²¢Ð¢Ú }¢ḯ çÜU¼Ýï % H¢|¢ ã¢ïx¢¢ ?
(A) 16 (B) 4 (C) 8 (D) 12

(158) Í¢ÇGè }¢ḯ Í¢æÅï ÜUè S¢é§ü m¢Ú¢ 1 ç}¢ÝÅ }¢ï´ çÜU¼Ýï çÇx¢íè ÜU¢ ÜU¢ï‡¢ Ï¢Ý¼¢ ãñ ?

(A)
1 0( )
2

(B) 12
0

(C) 6
0

(D) 4
0

(159) »ÜU ÐïÅè }¢ḯ ÜéUH x¢ï´Î¢ï´ ÜïU 2/5 |¢¢x¢ ÜU¢Hè ãñ́ ¥¢ñÚ Ï¢¢ÜUè ÜUè x¢ïÎḯ S¢ÈïUÎ ãñ J ²çÎ »ÜU ¥ç{ÜU ÜU¢Hè x¢ñÎ ÐïÅè }¢ḯ Ú¶ Îè Á¢¢²
¼¢ï ÜU¢Hè x¢ḯÎ¢ḯ ÜUè S¢æw²¢, ÜéUH x¢ïÎ¢ḯ ÜUè 3/7 |¢¢x¢ ã¢ïx¢è J ¼¢ï ÐïÅè }¢ḯ S¢ÈïUÎ x¢ïÎ¢ḯ ÜUè S¢æw²¢ çÜU¼Ýè ã¢ḯx¢è ?

(A) 8 (B) 12 (C) 6 (D) 4

(160) »ÜU Í¢¢ïÇ¢x¢¢ÇGè ÜUè ÜUè}¢¼ X LÐ²¢ ãñ J ²çÎ x¢¢ÇGè ÜUè ÜUè}¢¼, Í¢¢ïÇGï ÜUè ÜUè}¢¼ S¢ï Y MÐ²¢ ¥ç{ÜU ã¢ï ¼¢ï Í¢¢ïÇGï ÜUè ÜUè}¢¼
çÜU¼Ýï MÐ²ï ã¢ïx¢è ?

(A)X-Y (B)
2

X Y
(C)

2

Y X
(D)

2

Y X

(161) ŒH¢Á}¢¢ïH¢§çS¢S¢ çRU²¢ ÜU¢ ÐçÚ‡¢¢}¢ v²¢ ãñ ?
(A) ÜU¢ï̄  }¢ḯ Ð¢ÝèÜïU Ðí±ïà¢ ÜUÚÝï ÜUè ÿ¢}¢¼¢ (B) ÜU¢ï̄  m¢Ú¢ Ð¢Ýè ãÅ¢Ýï ÜUè ÿ¢}¢¼¢
(C) ÚS¢{¢Ýè m¢Ú¢ Á¢HçÝ²}¢Ý (D) ¥‹Ý{¢Ýè m¢Ú¢ Ð¢Ó¢Ý

(162) Ý¢çÚ²H ÜUè Úïà¢¢²év¼ À¢H }¢ḯ çS‰¢¼ ©S¢ÜUè ÜU¢ï¯Îè±¢H }¢ḯ ÜU¢ñÝ S¢¢ ÐÎ¢‰¢ü ã¢ï¼¢ ãñ ?
(A) çHçxÝÝ (B) v²êçÅÝ (C) S¢éÏ¢ïçÚÝ (D) ÐïçvÅÝ

(163) ¥}¢¢ïçÝ²¢ ÜU¢ Ý¢§ÅîïÅ ¥¢ñÚ Ý¢§Åî¢§Å }¢ḯ MÐ¢æ¼Ú ã¢ïÝï ÜUè çRU²¢ ÜU¢ï v²¢ ÜUã¼ï ãñ́ ?
(A) ¥}¢¢ïçÝçÈUÜïUà¢Ý (B) Ý¢§ÅîèçÈUÜïUà¢Ý (C) Ý¢§Åî¢ïÁ¢Ý S‰¢¢ÐÝ (D) ÇèÝ¢§çÅîçÈUÜïUà¢Ý

(164) Ï¢¢õS¢ §æçÇvS¢ çÜUS¢ÜUè ÐíÁ¢¢ç¼ ãñ ?
(A) x¢¢² (B) |¢ñ́S¢ (C) }¢éx¢èü (D) }¢{é}¢v¶è

(165) §Å¢çH²Ý }¢{é}¢v¶è ÜUè ÜU¢ñÝ S¢è Á¢¢ç¼ Ã²¢ÐÜU MÐ S¢ï à¢ãÎ ©yÐ¢ÎÝ ÜïU çH» ©Ð²¢ïx¢è ãñ ?
(A) »çÐS¢ S¢èÚ¢Ý¢ §æçÇÜU¢ (B) »çÐS¢ Ç¢ïÚS¢¢Å¢ (C) »çÐS¢ zH¢ïÚè (D) »çÐS¢ }¢ïHèÈïUÚ¢
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(166) çÜUS¢ÜU¢ ©Ð²¢ïx¢ ÜïU‹S¢Ú ÜïU ©ÐÓ¢¢Ú }¢ḯ ã¢ï¼¢ ãñ ?
(A) 235

u
(B) 24

Na
(C) 127

1
(D) 60

co

(167) »ÜU ÐÎ¢‰¢ü ÜU¢ï à¢è¯üHæÏ¢ ©Š±¢ü{Ú çÎà¢¢ }¢ḯ ‘u’ çÁ¢¼Ýï ±ïx¢ S¢ï ÈïU´ÜU¢ Á¢¢¼¢ ãñ ¼¢ï ©S¢ ÐÎ¢‰¢ü ÜïU m¢Ú¢ Ðí¢Œ¼ ÜUè x¢§ü }¢ãœ¢}¢
ªæÓ¢¢§ü çÜU¼Ýè ãñ ?

(A)
u

g (B) u
2
/2g (C) u

2
/g (D)

u

2g

(168) Ó¢æÎí}¢¢ ÐÚ x¢éLy± Ðí±ïx¢ ÜU¢ }¢¢Ý çÜU¼Ýï ms
–2 ãñ ?

(A) 63.1 (B) 13.6 (C) 1.63 (D) 1.36

(169) çÝ}Ý }¢ḯ S¢ï ÜU¢ñÝ S¢¢ }¢¢~¢ÜU ªÁ¢¢ü ÜU¢ Ýãè´ ãñ ?
(A) joule (B) newton metre

(C) kilowatt (D) kilowatt hour

(170) ECG ¼ÜUÝèÜU }¢ḯ çÜUÝ ¼Úæx¢¢ḯ ÜU¢ ©Ð²¢ïx¢ ã¢ï¼¢ ãñ ?
(A) ¥ËÅî¢S¢¢ïçÝÜU B) §‹ÈíU¢S¢¢ïçÝÜU
(C) S¢éÐÚS¢¢ïçÝÜU (D) Ÿ¢¢Ã²

(171) ±¢²é}¢æÇH }¢ï´ CO
2
 ÜUè ©ÐçS‰¢ç¼ çÜU¼Ýè ãñ ?

(A) 0.01% (B) 0.02% (C) 0.03% (D) 0.04%

(172) }¢ḯÇHèÈU ÜïU ¥¢±ë¼ çÝ²}¢ ÜïU ¥ÝéS¢¢Ú ¼y±¢ḯ ÜU¢ï ¥¢±ë¼ ¼¢çHÜU¢ }¢ï´ Ã²±çS‰¢¼ çÜU²¢ x¢²¢ RU}¢ ÜU¢ñÝ S¢¢ ãñ ?
(A) Ï¢ÉG¼ï ÐÚ}¢¢‡¢é RU}¢¢æÜU (B) Í¢Å¼ï ÐÚ}¢¢‡¢é RU}¢¢æÜU
(C) Ï¢ÉG¼ï ÐÚ}¢¢‡¢é ÎíÃ²}¢¢Ý (D) Í¢Å¼ï ÐÚ}¢¢‡¢é ÎíÃ²}¢¢Ý

(173) çÜUS¢è çÎ» x¢» {¢¼é ÜïU ¼¢Ú ÜUè ç±léœ¢ Ðíç¼Ú¢ï{ÜU¼¢ çÜUS¢ ÐÚ çÝ|¢üÚ ÜUÚ¼è ãñ ?
(A) ¼¢Ú ÜUè HæÏ¢¢§ü ÐÚ (B) ¼¢Ú ÜUè }¢¢ïÅ¢§ü ÐÚ
(C) ¼¢Ú ÜUè ¥¢ÜëUç¼ ÐÚ (D) ¼¢Ú ÜïU ÐÎ¢‰¢ü ÜUè ÐíÜëUç¼ ÐÚ

(174) Ï¢ïçÛ¢ÜU Á¢}¢èÝ ÜU¢ï ¼ÅS‰¢ ÜUÚÝï ÜïU çH» çÜUS¢¢Ý Á¢}¢èÝ }¢ḯ v²¢ ç}¢H¢¼¢ ãñ ?

(A) çÁ¢ŒS¢}¢ (B) Ý}¢ÜU (C) ÝèH¢‰¢¢ï‰¢¢ (D) Ó¢êÝ¢

(175) PNG ÜU¢ ÐêÚ¢ Ý¢}¢ v²¢ ãñ ?
(A) Petro Natural Gas (B) Pipe Natural Gas

(C) Pressurised Natural Gas (D) Pressurised Neutral Gas

(176) çÝ}Ý }¢ḯ S¢ï ÜU¢ñÝ S¢¢ Í¢ÅÜU ¥Hx¢ ÐÇG¼¢ ãñ ?

(A) çÐ¼H (B) ã±¢ (C) Úï¼è (D) x¢íïÈU¢§Ç
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(177) çÝ}Ý }¢ï´ S¢ï ÜU¢ñÝ à¢ñÿ¢ç‡¢ÜU S¢¢{Ý Ýãè´ ãñ ?
(A) Ï¢éHïçÅÝ Ï¢¢ïÇü (B) Ï¢¢ïÇü ¥¢Hï¶
(C) çS‰¢Ú çÓ¢~¢ (D) ÜU¢Ðè ÜU¢²ü

(178) Ó¢¼é|¢éüÁ¢ PQRS ÜUè |¢éÁ¢¢¥¢ïæ ÜïU }¢Š² çÏ¢‹Îé¥¢ïæ ÜU¢ï »ÜU ãè RU}¢ }¢ḯ ç}¢H¢Ýï ÐÚ Ï¢Ý¢ Ó¢¼é|¢éüÁ¢ »ÜU ¥¢²¼ ã¢ï¼¢ ãñ ?
(A) PQRS ¥¢²¼ ãñ (B) PQRS »ÜU S¢}¢¢‹¼Ú Ó¢¼é|¢éüÁ¢ ãñ
(C) PQRS ÜïU ç±ÜU‡¢ü ÐÚSÐÚ H}Ï¢ ã¢ḯ (D) PQRS ÜïU ç±ÜU‡¢ü Ï¢Ú¢Ï¢Ú ã¢ḯ

(179) 1m
3
 = .................... cm

3

(A) 1000 (B) 1000000 (C) 10 (D) 100

(180) }¢êHçÏ¢‹Îé ÜïU çÝÎïüà¢¢æÜU ............... ã¢ï¼ï ãñ J
(A) (0, 0) (B) (– 1, 0) (C) (1, 0) (D) (0, 1)

(181) ç±¿¢¢Ý ÜU¢ S¢}¢¢Á¢ç±l¢ ÜïU S¢¢‰¢ ¥ÝéÏ¢æ{ ãñ »S¢¢ çÝ}Ý }¢ḯ S¢ï çÜUS¢ Ï¢¢¼ S¢ï SÐC ã¢ï¼¢ ãñ ?

(A) S¢æx¢è¼ ÜU¢ ¿¢¢Ý ã¢ïÝ¢ (B) ã¢‰¢ ÐñÚ {¢ïÜUÚ ¶¢Ý¢ ¶¢Ýï Ï¢ñÆÝ¢

(C) »ÜU ãè ÐíÜU¢Ú ÜU¢ ¶¢Ý¢ ¶¢Ý¢ (D) Ï¢ÇGï Ý¢¶êÝ Ú¶Ý¢

(182) Ð¢Æ ¥¢²¢ïÁ¢Ý çHç¶¼ }¢ḯ v²¢ḯ ã¢ïÝ¢ Ó¢¢çã» ?
(A) çà¢ÿ¢ÜU ÜïU ¥ÿ¢Ú S¢éæÎÚ ã¢ï (B) çH¶Ýï ÜUè Ðíç¼ S¢éx¢}¢¼¢ ÎêÚ ã¢ï
(C) çà¢ÿ¢‡¢ ÜU¢ ÜU¢²ü çH¶Ýï ÜïU S¢¢‰¢ S¢æÏ¢æç{¼ (D) çà¢ÿ¢ÜU |¢êH Ý ÜUÚï

(183) Ðí²¢ïx¢ Ðhç¼ çÜUS¢ çS¢h¢æ¼ ÜïU ¥¢{¢Ú ÐÚ ÜU¢²ü ÜUÚ¼è ãñ ?
(A) Truth is that which works

(B) Learning by doing

(C) Science is something which must work

(D) Science is done deadly it is worse than unless

(184) Ðí¢õÁ¢ïvÅ Ðhç¼ ÜU¢ï ±ñ¿¢¢çÝÜU MÐ ÎïÝï ÜU¢ ÜU¢}¢ çÜUS¢Ýï çÜU²¢ ?
(A) Á¢¢õÝÇê§ü (B) SÅè±ḯS¢Ý
(C) Ï¢ñH¢Çü (D) çÜUHÐñçÅîÜU

(185) S¢}¢² ÜU¢ S¢ãè Ï¢Ó¢¢± çÜUS¢ Ðhç¼ }¢ḯ ãñ ?
(A) sêçÚçSÅîvS¢ (B) Ðí²¢ïx¢
(C) Ðí¢õÁ¢ïvÅ (D) çÝÎïüà¢Ý Ðhç¼

(186) çÝÎïüà¢Ý Ð¢Æ ¥¢²¢ïÁ¢Ý ÜïU çÜU¼Ýï S¢¢ïÐ¢Ý ãñ ?
(A) 4 (B) 6

(C) 7 (D) 8
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(187) Learning laboratory ¥‰¢¢ü¼ì v²¢ ?
(A) ÐéS¼ÜU¢H² (B) çà¢ÿ¢ÜU¶æÇ
(C) Ðí²¢ïx¢ à¢¢H¢ (D) ÜU¢²¢üH²

(188) x¢ç‡¢¼ ÜïU çà¢ÿ¢‡¢ m¢Ú¢ ç±l¢‰¢èü ÜïU ÜU¢ñà¢Ë² ÜU¢ ç±ÜU¢S¢ çÜUS¢ ÿ¢ï~¢ }¢ï´ ã¢ï¼¢ ãñ ?
(A) Ï¢¢ï{¢y}¢ÜU (B) }¢¢ÝçS¢ÜU
(C) |¢¢±¢y}¢ÜU (D) ¿¢¢Ý¢y}¢ÜU

(189) RU}¢ }¢ḯ S¢}¢¢Ý ç±çà¢C¼¢¥¢ïæ ÜïU S¢¢‰¢ Ð¢ÆKÓ¢Ó¢¢ü ÜïU ç±¯²¢ḯ ÜU¢ï ÐÉG¢Ýï ÜïU çH» »ÜU RUç}¢ÜU ²¢ïÁ¢Ý¢ v²¢ ãñ ?
(A) Ð¢Æ ÜU¢ çÝ²¢ïÁ¢Ý (B) ²êçÝÅ ²¢ïÁ¢Ý¢
(C) ç±¯² ±S¼é ÜU¢ ¥¢²¢ïÁ¢Ý (D) ÜU¢ï§ü |¢è Ýãè´

(190) çÝ}ÝçHç¶¼ }¢ï´ S¢ï ÜU¢ñÝ-S¢è S¢}¢êã Ó¢Ó¢¢ü Ðhç¼ ÜUè ç±à¢ï̄ ¼¢ ãñ ?
(A) À¢~¢¢ï ÜU¢ï À¢ïÅï S¢}¢êã¢ï }¢ḯ Ï¢¢æÅÝ¢
(B) À¢~¢¢ï ÜïU Ï¢èÓ¢ ç±Ó¢¢Ú¢ï ÜU¢ ¥¢Î¢Ý-ÐíÎ¢Ý
(C) ÜUÿ¢¢ ÜïU S¢|¢è ç±l¢‰¢èü¥¢ïæ ÜU¢ï S¢çRU² Ï¢Ý¢²¢ Á¢¢ S¢ÜU¼¢ ãñ J
(D) ©Ð²év¼ S¢|¢è

(191) »ÜU x¢ç‡¢¼ ÜU¢ çà¢ÿ¢ÜU Í¢ÚïHé ±S¼é¥¢ï ÜïU ¥¢ÜU¢Ú S¢ï Á²¢ïç}¢ç¼ ÐÉG¼¢ ãñ J §S¢}¢ḯ çÜUS¢ çà¢ÿ¢‡¢ S¢ê~¢ ÜU¢ ©Ð²¢ïx¢ ã¢ï¼¢ ãñ ?
(A) ¿¢¢¼ S¢ï ¥¿¢¢¼ ÜUè ¥¢ïÚ Ï¢ÉG¼ï ãé» J (B) S¢ÚH S¢ï ÜUçÆÝ ÜUè ¥¢ïÚ Ï¢ÉG¼ï ãé» J
(C) }¢ê¼ü S¢ï ¥}¢ê¼ü ÜUè ¥¢ïÚ Ï¢ÉG¼ï ãé» J (D) ç±çà¢C S¢ï S¢¢}¢¢‹² ÜUè ¥¢ïÚ Ï¢ÉG¼ï ãé» J

(192) çÜUS¢ÜïU ¥ÝéS¢¢Ú ¥æÜUx¢ç‡¢¼ ÜïU ¥Š²²Ý S¢ï Ï¢¢HÜU ÜU¢ï ¼ÜüU à¢çv¼ ç±ÜUçS¢¼ ÜUÚÝï ÜU¢ Ðíçà¢ÿ¢‡¢ ç}¢H¼¢ ãñ ?
(A) ÐïSÅ¢ïH¢ïÁ¢è (B) ãÏ¢üÅü
(C) }¢ïÇ}¢ }¢¢ï‹ÅïS¢Úè (D) §Ý}¢ḯ S¢ï ÜU¢ï§ü Ýãè´

(193) (a + b)
2
 = a

2
 + 2 ab + b

2 S¢ê~¢ ÜU¢ ©Ð²¢ïx¢ ÜUÚÜïU ‘ç±ç±{ çmÐÎè Ï¢ãéÐÎ ÜïU Ðê‡¢ü±x¢ü ÜïU ÐÎ Ðí¢Œ¼ ÜUÚÝ¢ S¢è¶ï’ ²ã
ÜU¢ñÝ S¢è Ðhç¼ Îà¢¢ü¼è ãñ ?
(A) Ðí}¢¢‡¢|¢ê¼ Ðhç¼ (B) ¼¢<ÜUÜU Ðhç¼
(C) ¥¢x¢}¢Ý Ðhç¼ (D) çÝx¢}¢Ý Ðhç¼

(194) çÝ²}¢ S¢ï ©Î¢ãÚ‡¢ ÜUè ¥¢ïÚ Á¢¢Ý¢ çÜUS¢ Ðhç¼ }¢ï´ S¢}¢¢ç±C ãñ ?
(A) ¥¢x¢}¢Ý (B) çÝx¢}¢Ý
(C) Ðë‰‰¢ÜUÚ‡¢ (D) S¢æ²¢ïx¢èÜUÚ‡¢

(195) ÝãÚ ¥¢ñÚ ÝÎè ÜïU Ï¢èÓ¢ ÜU¢ |¢ïÎ S¢}¢Û¢¢Ý¢ ²ã çÜUS¢ÜU¢ ©Î¢ãÚ‡¢ ãñ ?
(A) ¥çÝçp¼ ÐÚ S¢ï çÝçp¼ ÜUè ¥¢ñÚ (B) S¢}¢x¢í ÐÚ S¢ï ¥æà¢ ÜUè ¥¢ïÚ
(C) ç±çà¢C ÐÚ S¢ï S¢¢}¢¢‹² ÜUè ¥¢ïÚ (D) S¢ÚH S¢ï ÜUçÆÝ ÜUè ¥¢ïÚ
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(196) ç±¿¢¢Ý çà¢ÿ¢‡¢ ÜUè Ðí¢õÁ¢ïvÅ Ðhç¼ ÜïU Ðí‰¢}¢ ¥‹±ï¯ÜU ÜU¢ñÝ ‰¢ñ ?
(A) Ð¢ÜüUÚ (B) ÜïU±è
(C) çvHÐïçÅîÜU (D) Ï¢ïH¢Çü

(197) 6 +4 = 10 S¢}¢Á¢¢Ýï ÜïU çH» çà¢ÿ¢ÜU ÐãHï À: x¢ḯÎ ÐíS¼é¼ ÜUÚÜïU ©S¢}¢ḯ Ó¢¢Ú x¢ï´Î Á¢¢ïÇG ÜUÚ ÐêÀ¼¢ ãñ çÜU ¥Ï¢ çÜU¼Ýè x¢ḯÎ
ãé§ü ? ²ã ÜU¢ïÝS¢¢ RU}¢ ãñ ?
(A) S¢ÚH S¢ï ÜUçÆÝ ÜUè ¥¢ñÚ (B) ¿¢¢¼ S¢ï ¥¿¢¢¼ ÜUè ¥¢ñÚ
(C) }¢ê¼ü S¢ï ¥}¢ê¼ü ÜUè ¥¢ñÚ (D) Ðê‡¢ü S¢ï ¶ÇG ÜUè ¥¢ñÚ

(198) ¥æÜU x¢ç‡¢¼ }¢ḯ }¢¢ñç¶ÜU ÜU¢²ü ÜU¢ }¢ãœ± v²¢ ãñ ?
(A) À¢~¢¢ï ÜUè x¢‡¢Ý à¢çv¼ ¼ïÁ¢ ã¢ï¼è ãñ J (B) À¢~¢¢ï´ ÜïU S¢}¢² ÜUè Ï¢Ó¢¼ ã¢ï¼è ãñ J
(C) çS¢ÈüU A (D) A ¥¢ñÚ B Î¢ïÝ¢ï

(199) çÝ}Ý }¢ï´ S¢ï ÜU¢ñÝ ¥ÐçÚ|¢¢ç¯¼ ÐÎ ãñ ?
(A) à¢¢‹¼ Úï¶¢ (B) ç~¢|¢éÁ¢
(C) çÜUÚ‡¢ (D) ôÏ¢Îé

(200) çÝ}ÝçHç¶¼ }¢ḯ S¢ï ÜU¢ñÝ S¢è x¢ç¼ç±ç{ Á²¢ïç}¢ç¼ S¢è¶Ýï ÜïU Ã²¢±ã¢çÚÜU Ó¢Ú‡¢ S¢ï S¢æÏ¢æç{¼ ãñ ?
(A) ¥¢ÜëUç¼ ÐãÓ¢¢ÝÝ¢ (B) ¥¢ÜëUç¼ Ï¢Ý¢Ý¢
(C) ÜU¢ï‡¢ ÜU¢ }¢¢ÐÝ¢ (D) ©Ð²év¼ S¢|¢è

������������
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Ãkheûkk Ãkqhe ÚkÞk çkkË W¥khÃkºk (OMR SHEET) ¾tz rLkheûkfLku ¾wÕ÷wt (fðh{kt
{wõÞk ðøkh) Ãkhík fÞko çkkË s Ãkheûkk ¾tz AkuzðkLkku hnuþu. íku{ fhðk{kt fMkqh ÚkÞuÚke
rþMík¼tøkLkk Ãkøk÷kt økýe Ãkheûkk {kxu su íku W{uËðkhLku økuh÷kÞf Xuhððk{kt ykðþu.


